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Question Booldet Series -8

Sl
No. Questions
I Eﬁmﬁﬁﬁmﬁmmawm#aﬁmﬁmmm%aﬁ
QAT L gl
lf the number of turns in a coil is doubled in the same length and area, the
inductance L will
A) ST / double
(B) =t | quadruple
(C) &A= T@aT § / remains the same
(D) 3mew giar § / be cut in haif
2 1120 Q F T URAOY Ryq HI WIST ST & [0 360 Q ¥alld F T GAWET A

fohctel Ffe &0 SAIBHT Iow?
How much resistance must be connected in parallel with a 360 Q resistor to
obtain an equivalent resistance Req of 120 Q ?

(A) 180 O
(B} 460 Q
(C) 1.8 ko
(D) 320 0

(VS

Lé‘%ﬁ%ﬁﬁmé:mana:mqﬁw%mmﬁraﬁwmé:ﬁv
e T LT AT

To double the resonant frequency of an LC circuit with a fixed value of L, the

capacitance must be

A) TR U FH R / reduced by one quarter
(B) 3TET &F AT / reduced by one-half

(C) AT #e / doubled |

(D) [T T / quadrupled
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Question Booidet Series -8B

UearadsT GNT AT dlecdl B H{ed [T A GHE do F O & IAET HAW
ATl FATET & 8, FEd B

The value of alternating curreni or voliage that has the same heating effect as

a corresponding dc value is known as

(A) RrET A / peak value

(B) TrEx & RIER a& & & / peak to peak value -
(C) 3fwa=r AR / average value

(D) rms AT / rms  value

500 Hz #1 #gerT angfed @ 10 kHz &1 angied fweer @fed w  smgfad
AgTere HeRT # ageT AP FAT 57

What is the modulation index in a frequency modulated signal with a
modulating  frequency of 500 Hz and frequency deviation of 10 kMz?

(A} 10
(B) 20
(C) 25
(D) 50

e o & spwar & 5

Battery cells are connected in series. (o

(A) OIRT §FAT FTW & / increase the current capacity

(B) 3MFcyT dreear 1 FeM gq / increase the output voltage

(C) Hiafyer ufatierer & & HGT 8 / decrease the internal resistance
(D) MFcIe dlecdl i FH FA 8q / decrease the output voltage

Aiea fpeer _®
Noich filter is

(A) FzuRe fiReey / Band pass filter

(B) T IR& freeT / Low pass filter
(C) o= uNe et / High pass filter
(D) & goiw Treet / Band stop filter
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TF HAOT yaeE # 100 & NS wfew Ay 9w 0.1 F meew R @ A, F
IHHF CMRR #7872 |

A differential amplifier has a differential gain Ay of 100 and common mode
gain Acof 0.1. What is its CMRR?

(A) 10 dB
(8) 20 dB
(C) 30 dB
(D) 60 dB

R WG AT A 40 ps A T T & o o wgRd _ geh

If a Sine wave has a period T of 40 ps, its frequency is

(A) 40 kHz
(B) 250 kHz
(C) 25 kHz
(D) 2.5 kHz

10

T UG S 39 vl F At 10 deed & 100 uC % W@ & siEiig w7
HehdT & Al sudhr anfyar &1\ g
A capacitor that can store 100 uC of charge with 10V across its plates has a

capacitance value of

(A) 0.01 pF
(B) 0.1 pF
(C) 10.0 yF
(D) 1.0 pF

HOTV % fore sfderear seare g
Aspect ratio for HDTV is

(A 3:2
(B) 4:3
(C) 2:1
(D) 16:9
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T FET & Yearamed, $A9c dieedl e a8 gaidl ¥ 4 EARGRER]
FT &

Transconductance in a FET indicates how effectively the input voltage controls
the

(A) 3m3TyT 9nr / Output curremnt

(C) 3mqfd dreear / Supply voltage

)
(B) S+T9e WIANIUshar / Input Resistance
)
(D) a@reedr wfsy / Voltage gain

AT SraHE ¥ & & B sWE &0 39U BRI S 87

Which diode is used as a voltage regulator?

(A) FeT 39 / PIN diode

(B) SR 3415 / Varactor diode
(C) =T 5418 / Zener diode

(D) zaa 341 [ Tunnel diode

14 | Sromal Ty, & eI anT, sul &
The main advantage of CMOS is its
(A) e Far Aol / High power rating
(B) g T Fre / Small signal operafion
(C) fEa=T &7 / Switching capability
(D) fore=T Fsil @Td / Low power consumption
|5 | Tafeler oeifag faseardl (SCR) 1 AEARA: ZaRT AT e STAr §

Siticon Controlled Rectifier (SCR) is usually turned on by

(A) s FaT / break over

(B) T f&W / gate trigger

(C) e+ / breakdown

(D) #INT &I EROT HI §U / holding current
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Question Bocklet Serias —B

Rl Uik g2 & goen A, LED & &

As compared to a silicon rectifier diode, an LED has a

(A) IFTIT AT Slecdl TUT 3=acl §FHsi3a aleeal

lower forward voltage and higher breakdown voltage
(B) T@HTaY 3 dloTdl 9T oi=To} Sohsise dieedl

lower forward voltage and lower breakdown voltage
(C) =T HT Flecdl JUT 3Tadl ShsiFl deedl/

higher forward voltage and higher breakdown voltage
(D) 3T T disear aur ey Seharae aleea

higher forward voltage and lower breakdown voltage

| Ao St S R T e G & ARSe w7 &

ITYRT AT &

Ultrasonic diagnostic imaging typically employs a frequency range from

(A) 1 kHz to 15 kHz
T MHz to 15 MHz
1 Hz to 100 Hz
1 GHz to 15 GHz

———
O
—— et et

18

FESY &A@ g [AT &

Persistence of vision in @ human eye is

(A) TF fEeTe & 1/163F 7 1/16" of a minute
(B) U® ®Fs & 1/16ar / 1/16" of a second
(C) us =T & 1/6af / 1/6 ™ of & minute
(D) ww s & 1/6aF / 16" of a second

19

TFIETEHMT BT % forw suamr fm sar @

Sphygmomanometer is used

(A) sef8 YR & Sl T / for checking blood sugar
T gre I ST @eT / for checking blood pressure
gad F €EHT HT ST e / for checking heart beat

(D) STTAIRNE =37 / for dialysis
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20 | FAY & AWAE W T e s0E F HEy ANg #4487
' What is the barier potential of a sificon diode at room temperature?
(A) 1.0V
(B) 0.3 V
(Cy 0.7V
(D) 1.2 V
2 o er & euE & AW & am 3T 1% & A 3ud yees § A # R
gl
If the error in the measurement of the radius of a sphere is 1%,
then the error in the measurement in its volume is
(A) 1%
(B} 3%
(C} 6%
(D) 9%
22 | At s FedT & fF e & QIR W 92 gU THY Acadh & ¥

Rrenfrd AT ST Gaar gl

Nortan Theorm states that an entire network connected to a pair of terminals

can be replaced with

(A) TARIAT F Tha dleedr Td & T el HicRremsRdr

a single voltage source in parallel with a single resistance
(B) AW ¥ Uehel ORT HT & T Tohel YR

a single current source in parallel with a single resistance
(C) #@er 3 drecar AT & WY Tl AfeRTIHA

a single voltage source in series with a single resistance
(D) STT # THE TN W Tehel WAt

a single current source in se_ries with a single resistance

T AT TS, WA Tihd 99 FEeTTar o

A real signal is said to be even signat if

2 % gt

(A) oty =

(B) gty = - glt)
(€) oty = ga-t)

(D) gty = g® = g(t)
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YT & 0T B TBT B e TRUEHT G@NT Fegrad T d TS RRAT R £7

Which phenomenon is best explained by the particle nature of light?

(A) slweRr weg / Doppler effect

(B) gdrezoT / Polarization

(C) oo Taggeshra e / Photoelectric Effect
(D) TAad=r / Diffraction

25

PCM #TZeRIA HT HET TTha B
The correct sequence of PCM modulation is

(A TRieRTor, ufrerae, g,/ quantizing, sampling, encoding
(B). refreor,. shied, Gidee [ quantizing, encading, sampling
(C) wifermet, TeieRoT, =I5 / sampling, quantizing, encoding
(D) se, wicrmget, TRIEOT / encoding, sampling, quantizing

26

w@%ﬁr%ﬁwwﬁﬁaﬁ&%ﬁw,m ;an?f%raﬂq?-n%

Resolution Bandwidth of a Spectrum Analyser is its capability

(A) I Hehe 3Mafcd JUHed FT fage/

to resolve smallest signal frequency separation
(B) WHAH T FH F AT N Ecay

to resolve smallest signal amplitude difference
(C) e Hehel 0T AT a1 fagea/

to resolve smallest signal phase difference
(D) TEIH FAAEE Fa F Fgest/

to resolve smallest time period difference

27

e AT FUT FMEF _ & canr FRar AT &
Error detection and correction is done

(A) 38 GHERE ST aIfdd a1 / by passing it through equalizer
(B) Theet @t 3¥ YR &1 / by passing it through filter

(C) Hehd T wafda Fd g7 / by amplifying the signal '

(D) 3 sifafear Reh &1 Slisd g / by adding redundancy bits
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28 | A AP TIAX & ErECH 7 A angfed W Y REdarer ®hd g(l)
F Tl & 3eUel ERad F FO gREear FEd &
The phenomenon of some of the higher frequencies in the spectrum of the
signal g(t) appearing as lower frequencies in the spectrum of its sampled
version is called ‘ *
(A) Taw9oT / distortion
(B) f2ufar / dithering
(C) 39=ATTAA / aliasing
(D) FareHRET @ / quantization noise _

29 | et W Felr HI ¥ @ weust w9 ¥ ofEfdd g §
The energy of a photon varies directly with its
(A) 3gfea / frequency
(B) aloeEd / wavelength
(C) 7igeren /  intensity
(D) Yee AT (fo=TH gegA) / rest mass

30 | forelr ver ARG HIST Q27 ATGET BT ST & HROIE T A FET B!

The difference between any one measured value and the arithmetic mean of a

series of measurements is termed as

(A) Ta#eaT / Resolution
(B) TRREAT / Precision
C) faafad / Deviation -
D) Zemdar / Accuracy

Tz e sciie cuFad 3% w4 gfasnerd) e wag cE Meita e e g
o FEd & |
A code in which each decimal digit is represented by a group of 4 binary bits

is

(A) BCD (S=aily =13 3R%e) / BCD (Binary Coded Decimal)
(B) & @5 / Gray code

(C) TFET 3 HIT / Excess 3 code

(D) ASCIHl F15 / ASCII code
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[WF)
[}

8-fT ey 5 gur 8 o 997 s9 Af¥eaH | I HSROT 5 Hehell &
A memory with 8-bit data bus and 8-bit address bus can store a maximum of

(A) 256 arecE / 256 bytes
(B) 256 Ty / 256 bits
(C) 1K =eq / 1K bytes
(D) 512 @/=cd / 512 bytes

)
w

VHDL # ‘ASSERT’ favoT &7 q=ir ¥ fore Rrar oar ¥
In VHDL, 'ASSERT statement is used for

(A) e weliq &r 9o & fow / declaring flip flops

(B) #RYA F 30T & dlvet RAféar Famastr qar 3fe deer & fiw
reporting warnings and error messages during simulation of model

(C) VHDL @i &l @¥90T / synthesis of VHDL code

(D) fEatred 1 ¥u=T ©d T / place and route of design

TEE MR vonel F 3T ARy & @A ’ES F fov dEeT ®w @ e
#T S arelr ygfY 8

For high speed butk data transfer in processor based system commonly used

method is

(A) DMA (z5dse #AR U®) / DMA (Direct Memory Access)
(B) sif¥rg foRE0T / interrupt control

(C) @ifel / Polling

(D) feroures e F AT 3ffhar 3iawor

Data transfer through execution register

TEH TAA H, TgIengi-r ey w3y &

In @ microprocessor, the term ‘pipelining’ refers to

(A) 9aT Fr SIS &= / address decoding

(B) FH form=tr / memory writes

(C) 9T ey & [ASUTe & WHAT 30Tl 3[Rl T Wvd ST
fetching next instruction while the current instruction is executed

(D) STHMET HANT 94T / virtual memory addressing
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R5232 Usv / RS232 is a

(A) H=eET T % fow diRTd 99 /
serial bus for data communication

(B) 3T F9R & [T TAAG o8 /
parallel bus for data communication

(C) #BHE /[ MODEM

(D) SfET r=FFer / interrupt controller

VHDL g & ofedr $r gwor F feagor aar ¢

Entity declaration in VHDL code describes

(Ay AT T arEdehell / architecture of the module |

(B) HIBYSA & Hremaftl =i suragiiehen / timing behaviour of the module

(C) #HIEge &1 CIRSH %’W/m/ external view/interface of the module

(D) ABYE H HEHTH YAROT H [&ews / maximum propagation delay in the
moduie

3T BomEA & [0 AT RRU SN aT ORI GATT T SRR, R g5 &
& garEs fr A @ ganfad swar §
Propagation delay of flip flops used for counter design largely affects the

speed of operation of

(A) FJeARICIH (G9T) FM3wel / asynchronous (ripple) counter

{B) qIB(NJChIrI_(:ECh Y F3sel / synchronous up counter
(C). gearemferss 813+ #3we¥ / synchronous down counter
(B} rgm’-lqﬂmﬁﬁ 39 B3 &I3eex / synchronous up down counter

TeAd ARHHIETT H T HART FHT 99T é?ﬁ‘rtrmm%

In advanced microprocessors, cache memories are used to

(A) SIENH U7 31T & T Wi @3 & 4id e F o/
nold the current active segmenis of program and data

(B) g€ & / boot program '

(C) o WIS F H3MT &7 / store huge files

(D) TFrrs % #3WOT & / store only constanis
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40

VHDL # v gfafadfera arer s & ganT 2R R srar &
In VHDL., bidirectional data bus is declared

(A) 8T/ In

(B) 3r3< / Out

(C) «%X / Buffer

(D) 3 3132 / In out

4]

IPv4 geteic X ged® gC & T fhae Red &7 Seic 99 v fear mr
forgent gree & @ oot A & o fRar onar &
How many bits internet address is assigned to each host on an IPv4 internet
which is used in all communications with the host

(A) 64 ey / 64 bits
) 24 New [ 24 bits
32 ey / 32 bits
16 faea / 16 bits

42

SgEehde H AET HF § / The primary function of the multiplexing is

(A) TR dha & T ega & & o IRW A9 a9t a1 ,
to select one radio channel from a wide range of transmitted signals
(B) v HAREA A N 0w T T 3gied I & any e

to match the frequency range of a signal to a particular channel

‘(C) U Hend H SSIGEAR P HF T

to reduce the bandwidth of a signal

(D) TSel AR oiel T 39T FeT 5 el Ehell BT YT ST 3o

to allow a number of signals to make use of a single communication
channel

Suee dead 7, WAL 93 W ddey menRa Fr 39T BT & g 3990 @
ST R e & |

In an Ethernet network which device is used to forward the packets based on
IP Address

(A) g/ Hub

(B) &= / Switch -
(C) fTdIssT / Bridge
(D) 3eX / Router
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44 | AT gar & F B # a3ede 399 §hn, TR U hdd He-geye 3w
feefa uv gt ar
in which of the foliowing gates, the output is high if and only if all inputs are
high
(A) NOT
(B) XOR
(C) OR
(D) AND
45 | IrSTETE HEAT F 3 B AIEET BT TSU eI SRTenY fom B It |
T ¥ ‘
The maximum number of binary bits required to represent a digit of octal
number is
(A) 3
B) 2
(C} 5
D) 4
46 | HEH S I GICAT B TYAAH HEA §, B Fed ©
| The detector thai minimizes the error probability is called as
(A) =ETdH FIE FEIH / Minimum likelihood detector
(B) ffpasr Fafaar Ta=e / Maximum likelihood detector
(C) sitaas wenfaa dqu® / Mean likefihood detector
(D) =efEoes Hiadr 4= / Random likelihood detector
47 | 9aR % LAN & fov IEEE 802.11 W& ganT b &§ 3ifard depelien ol sl

ﬁmw%‘

Which multiple access technique is used by IEEE 802.11 standard for wireless
LAN

(A) CDMA
(B) CSMA/CA
(C) ALOHA
(D) TDMA
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48

ACAE S osed migied (R ai W amw w9 @ qeEds s b
d_ e g

The medium which reflects high frequency radio waves back to earth s

(A) 3T=#HSH / lonosphere
(B) #@HATHIZS / Stratosphere
(C) S/a#Ee / Biosphere

(D) &t HS® / Troposphere

49

3R ol iaTE SiguAd 10101 & Zreed §&T & T &

Hexadecimal equivalent of the decimal number 10101 is

(A) 15
(B) 23565
(Cy 1010
(D) 2775

50

4T 1@ F FTH geieg g

Spectral density of the white noise is

(A) THHART / Uniform

(B) =ENRAT / Exponential
(C} g3 / Gaussian
(D) <51 / Poisson

{A) ﬁamﬂﬁﬂnwaw € 9T I% Pael 9 FT HT G T ¥

| (C) & widaw @ e gar 81H ¥ T 97 A We £ 7 @ aar ¥

8051 geAlaTas #, ot # ¥ @le @ faawor wgr &7

In 8051 microcontroller, which of the following statements is TRUE?

Stack Pointer Direct address is 80H and it is only Bit addressable
(B) Tew Hehdw FT WrET 94T 90H & AT AT Faw @isT 1 3N THT FWar &
Stack Pointer Direct address is 90H and it is only Byte addressable

Stack Pointer Direct address is 81H and it is only Bit addressable
(D) ®& Hbcsh FT W4T 94T 81H & T FF e A15C Hr 3R Gha war ¥

Stack Pointer Direct address is 81H and it is only Byte addressable
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52| CowanfRer F Y fEEver &7 g Q algY Feel F T AT S g
The ‘break’ statement in 'C programming’ is used to exit from
(A) TF Ui feeor / an if statement
(B) T ‘for'g™ / a ‘for' loop
(C) e FAshaT / a program
(D) FET () T / the main () function
53] ¢ A odwae
A Preprocessor in ‘C' is
(A) arEafas Hehole EHIT 8 BT & e Y A TTsTied BT g
gepford #¥=1 & Tog fader
a directive to compiler to perform things before the actual
compilation process starts .
(B) TEI®A wiear % Ut g1 & S8 F R ewiiEd A &g dehferd
e & Tow e
a directive to compiler to perform things after the compilation process
(C) TEIUT F W& AT S wRIwH H Freaifad Her g/
a directive to the processor which executes the program
(D) HEFEA & ToAEHST T g g U eTEacA® ey
a commentary statement to enhance the readability of the program
54 | 8051 WEFIREES # UH 24 MHz s &1 af& 39UNT [ SIar §, Slema

&I UF gig e & forar I we gl
¥ 3 24 MHz Oscillator is used in 8051 microcontroller, the time taken for

Timer to make one increment

(A) 1 sec
(B) 2 i sec
(C} 0.5 u sec
(D} 0.24 u sec
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‘Cmﬁ’ﬁaﬁaﬁﬂaﬁamqpﬁ%ﬁqﬁ%rwéﬁmw

35
w7 FaeT fFar Jrar §7
In ‘C programming’, if an integer is to be entered through the keyboard, which
function would be used?
(A) rea() / gets()
(B) () / getchey)
(C) ag=x() / getchar()
(D) THAw() / scanf()
s | MFERTEHIT . F momeAS @l &
Load current is always negative in
(A) & YR F A% / Type E Chopper
(B) Tl YR & [+ / Type C Chopper
(C) & v & f&==I% / Type B Chopper
(D) v v & &= / Type A Chopper
57 | AT 3ffeal@Fa (A+B) (A+C)  F gEnT &
Logical expression (A+B) {(A+C) is equal to
(A)  A+B+C
(B) A+B.C
(C) AB=+AC
(D) AB.C
58 191 lc= 12 mA T2 Iz = 0.4 mA aifsrees & & & Ser @i

If le= 12 mA and lg = 0.4 mA, the transistor would have a DC beta of

(A) 20
(B) 10

1(c) 12

(D) 30
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39

qgy dLEE H, F B TaEs Fuaw &9 F miease T e §

‘Collector drift region’ is introduced in Power BJT to

(A) g8d amr SR N T T@H & / maintain large current gain
(B) W YT &7 HR FA g / reduce base drive current
(C) 3 T ¥ 2N Fea AT H drecel &I selleh T &
block large voltage during OFF state
(D) 4T HEHe B HH A gq / reduce current crowding

60

8051 Fewferia® & SCON Isrrer # fe i3 F ST e §

’Bit 83 in SCON register of 8051 microcontroller indicates

)y 8 fre &0 wred 3T/ received 8" Bit

) 8§ Toe @1 9fda & / transmitted 8% Bit
(C) 9% e & IR & / transmitted ¥ Bit
(D) 9F faT = e AT / received 9" Bit
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